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Question Answer Marks 
AOs Guidance 

12   use of contingency table or Venn diagram or 

P(A or B) = P(A) + P(B) ‒ P(A and B) 

 

P(A and B) = 0.5 

 

P(A) × P(B) = 0.56 × 0.80 

 

= 0.448 seen 

 

0.448 ≠ 0.5 or 0.56 × 0.80 ≠ 0.5  so not independent 

 

M1 
 

 

A1 

M1 

 

A1 

 

A1 

[5] 

 

3.1b 

 

 

2.1 

 

1.1 

 
1.1 

 

 

3.2a 

0.56, 0.8 and 0.14 must be correctly 

placed; eg 

1 ‒ 0.14 = 0.56 + 0.8 ‒ P(A and B) 

 

or P(A/B) =   

 

= 0.625 or ⅝ seen 

 

0.625 or ⅝  ≠ 0.56 

 

where A  denotes “passing” 

maths and B denotes 

“passing” English 

 

the first M1A1 may be 

awarded for working with 

percentages 

 

allow equivalent argument 

based on showing A’ and B’ 
not independent 

13 (i)  calculation of P(X < 14) and P(X > 18) 

 

 

 

 

0.3085 and 0.0668 to 1 sf or better 

 

 

these figures do not support the model 
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3.4 

 

 

 

1.1 

 

 

3.5a 

or solves 

14 18
1.476  and 0.496=

 

 

 
    

simultaneously 

17 and 2.02    

 

17 is (relatively) far from 15 so not a 

good fit 

the second A1 is only available if the 

first A1 is awarded 

 

allow SC2 for showing the model is 

not a good fit for either value with all 

working correct 

or  

for a complete argument based on 

symmetry which refers to both tails 

  

or solves 
15

1.476
2

x 
    

and 
15

0.496
2

x 
   

x = 12.048 and 15.992 to 

nearest whole number or 

better 

which are not close to 14 and 

18 

 

or 
14 15 18 15

 and 
2 2

 
  

evaluated 

‒ 0.5 and 1.5 obtained 

which are not close to 

 ‒1.476 and 0.496 

respectively 


